BK Albr

ekts

Tisdagsbridgen 2020-10-06

Partavling, 10 bord, 19 par. Antal brickor: 24. Medel: 192.0. Frirond (*) ger egen procent.

Plac  Par Poang % Namn MID Klubb
1 11 233.0 60.68  Per Sintorn - Mats Ahlstrém 36301 16032 BK Albrekts
2 9 224.9 58.57  Per Andersson - Villy Havasi 17111 89205 BK Albrekts
3 13 219.4 57.14  Lars Kennethsson - Per Jansson 17074 2485 BK Lyx
4 4 213.7 55.65  Leif Lysebring - Anders lhalainen 10391 4892 BK Opalen - Lerums BK
5 20 210.3 54.78  Lennart Johansson - Géran Svensson 12266 372 Veddige BS
6 18 202.0 52.61 Ann Ohnedal - Georgios Faltsetas 53984 32393 BK Albrekts
7 8 201.0 52.33  Roger Hedskdld - Torleif Hagg 92027 12267 BK Albrekts
8 6 200.6 52.25  Tage Ericsson - Gunvor Bengtsson 5311 19715 BK Albrekts
9 19 197.2 51.37  Britt-Marie Warborn - Bobbo Jovic 2783 48267  BK Albrekts
10 2 189.6 49.39  Elena Bolafios - Henrik Johansson 92020 15131 BK Albrekts
11 16 183.1 47.69  Sten Jonsson - Karin Edler 24089 30687  BK Albrekts
12 15 178.1 46.37  Jesper Swedenborg - Lars Svensson 7369 2688 BK Albrekts
13 7 177.4 46.21  Kjell Svensson - Ingegerd Peterson 4250 14153  BK Albrekts
14 1 176.4 45.93  Bengt Bengtsson - Carl-Olof Jagebro 19714 26790 BK Albrekts
15 10 174.2 45.38  Elisabeth Olsson - Kerstin Edwall 42078 47140  AsalFrillesés BK
16 17 170.5 44.41  Ulla-Karin Ericsson - Bodil Gustafsson 5316 22165 BK Albrekts
17 14 170.3 44.35  Birgitta Lénberg - Bengt Bylund 13579 4878 BK Albrekts - Varé BK
18 5 168.0 43.74  Kenneth Svensson - Britt Bjork 14859 14866  BK Albrekts
19 12 158.5 41.26  Per Fahraeus - Ake Enander 3010 7351 BK Albrekts
1 # EKn8 Bésta kontrakt 2 & E42 Bésta kontrakt 3 4 KD10763 Bésta kontrakt
Nord v Kn93 3NT N =400 Ost v EKn98 5v O D -2 300 Syd vE 4¢ V =-130
Ingen + DKn92 NS + E107 ov 49732
#EKD & ¢ v & NT 2976 & ¢ v & NT #106 & ¢ v & NT
« D52 4 K943 N7 9989 41083 «D N48 498 4Kn984 45 N127 73
vEK107 v52 S79989 vD10543 v K762 S 59 4 108 v76 v K98 S12773
+1087 53 053353 +K ¢ DKn32 0849 35 ¢+ E10 ¢+ KDKn85 O 10106 6 6
974 #108632 V53453 #ED108 #Kn543 V849 35 #ED732 #Kn985 V 10106 6 6
41076 & KKn9765 aE2
v D864 v- v DKn105432
+ EK64 + 98654 +64
#Kn5 *K2 *K4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 2 3NN+1 3 430 16.0 00(11 2 44 N= +3 620 16,0 00| 1 20 3v S= ¢ A 140 150 1.0
1 9 3NN= *2 400 80 80| 7 12 5vDV-3 &A 500 140 20| 6 9 3vS= *A 140 150 10
7 12 3NN= 3 400 80 80| 1 9 4vDV-2 aA 300 120 40| 8 17 2¢vy N= a5 110 120 40
8 18 3NS= vA 400 80 80| 8 18 24 S+2 +¢K 170 90 70|11 7 3vS-1 ¢ A -50 90 7.0
15 4 3NN= *2 400 80 80|15 4 34S+l1 +¢K 170 90 70|16 5 2vS-1 ¢ A -50 90 7.0
16 14 3NN= 43 400 80 80|16 14 24 S+1 43 140 6.0 100| 4 14 3vS-2 ¢ A -100 5.0 11.0
17 5 3NN= +5 400 8.0 8020 19 4v V-2 oA 100 40 12015 13 3v S-2 ¢ A -100 5.0 11.0
20 19 3NN= 3 400 80 80(10 6 44 N-1 4Q -100 1.0 15.0| 2 10 4 V= vA -130 2.0 14.0
10 6 3NN-1 3 -50 0.0 160(17 5 34S-1 v -100 1.0 15.0|19 18 3v S-3 ¢ A -150 0.0 16.0
- 13 103| - 13 103|112 - 7.0
4 4963 Basta kontrakt 5 496 Basta kontrakt 6 » 86543 Basta kontrakt
Vast v 98752 54 V =-650 Nord v Kn10863 4¢ O =-130 Ost v KKn7 2v O =-110
Alla + K76 NS + EK10 ov +83
#E6 & ¢ v & NT #1093 & ¢ v & NT #E83 & ¢ v & NT
» EK82 4 DKn104 N6 4314 4KD85 44 N3 36263 a7 4EKN1092 N 7 7 5 6 6
vD1063 v EKKn S6 4314 vK94 vE52 S33663 v86432 vD105 S77566
¢+ Kn ¢ E10542 07 9 10119 49865 ¢ DKn32 O 9 106 7 8 ¢ DKn10 ¢ K52 O56 866
#DKn107 %9 vV 7 9 10119 «D8 *EK752 vV 9 106 7 8 #KKn52 #109 V56866
475 4 EKn10732 «KD
v4 vD7 vE9
+ D983 *74 + E9764
#K85432 #Kn64 «D764
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 14 64 O-2 v4 200 16.0 00| 8 16 24 S= 8 110 160 00|20 6 2NS= +J 120 16.0 0.0
2 10 44 O-1 &2 100 140 20|20 6 3NV-1 vl] 50 140 20| 2 9 INS= +Q 90 13.0 3.0
1 20 44 O= v4 -620 10.0 6.0|18 17 INV+2 49 -150 12.0 4.0|13 4 INS= v2 90 13.0 3.0
8 17 44 O= +8 -620 100 6.0| 5 15 INV+3 +¢K -180 90 70| 8 16 2¢ S-1 a7 -50 90 7.0
15 13 44 O= +3 -620 10.0 6.0|14 12 INV+3 49 -180 90 7.0|18 17 24 S-1 +Q -50 9.0 7.0
6 9 44 0+1 v4 -650 40 120( 7 10 3NV+1 vJ -430 5.0 11.0|14 12 3NN-2 ] -100 6.0 10.0
11 7 44 O+1 v4 -650 40 120(13 4 3NV+1l a9 -430 50 11.0| 1 19 2NN-3 aT -150 2.0 14.0
16 5 44 O+1 &3 -650 40 120( 1 19 24DS-2 v4 -500 1.0 150| 5 15 34 N-3 &T -150 2.0 14.0
19 18 3NV +2 v5 -660 00 160 2 9 24DS-2 +¢6 -500 1.0 15.0| 7 10 3NS-3 +Q -150 2.0 140
12 - 7.0 - 11 100| - 11 10.0
7 « KD932 Bésta kontrakt 8 « E10653 Bésta kontrakt 9 # 97654 Bésta kontrakt
Syd vE85 44 S =620 Vast v 105 5v V =-450 Nord vE 6NT O =-1440
Alla + EKn7 Ingen +10842 ov + D52
*E4 & ¢ v & NT «KD & ¢ v & NT #9653 & ¢ v & NT
4 864 a7 N6 7 7 109 4 Kn987 &K N4 42514 43 4 EDKn2 N4 1141
v73 v KKn962 S5 7 7 109 vD976 v EKKn2 S 44254 vKKn8765 v104 S41141
¢ K854 ¢ D63 0756 34 +K9 ¢ EDKn5 09 9 118 9 ¢+ K3 ¢EKn8764 O 9 12119 12
#K1098 #Kn653 V766 34 #532 #E976 vV 9 9 118 9 &#EDKn4  #10 vV 9 11119 11
4 EKn105 4 D42 4 K108
vD104 v 3843 v D932
+ 1092 ¢ 763 + 109
»D72 #Kn1084 »K872
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
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1 18 44 N= v9 620 110 50|14 5 44 V-2 &K 100 16.0 00| 1 17 4v V-2 a5 200 16.0 0.0
4 12 44 N= &3 620 11.0 50| 2 20 4v V= &K -420 120 4.0(20 7 4v V-1 a5 100 140 20
8 15 44 N= a7 620 11.0 50| 4 12 4vO= LN -420 12.0 4.0| 2 19 3NV= a5 -600 11.0 5.0
9 7 44 N= &5 620 110 50|13 11 4v V= &K -420 120 4.0(16 15 3NV= a4 -600 11.0 5.0
14 5 44 N= &3 620 11.0 50| 9 7 4vV+1l 3 -450 70 90| 4 11 4v V= &5 -620 5.0 11.0
19 6 44 N= &5 620 110 50|19 6 4v O+1 &8 -450 70 90| 6 18 4v V= a4 -620 5.0 11.0
13 11 3NN= &3 600 40 120( 1 18 3NV +2 &5 -460 40 120| 8 14 4y V= a5 -620 5.0 11.0
2 20 24 N+2 &6 170 20 140|117 16 4v O+2 #J -480 20 140(12 10 4v V= a7 -620 5.0 11.0
17 16 44 N-1 a7 -100 0.0 16.0| 8 15 4v O+3 &T -510 0.0 16.0( 5 13 3NV+1l &6 -630 0.0 16.0
- 10 71| - 10 71 - 9 9.5
10 D7 Basta kontrakt 11 495 Basta kontrakt 12 #83 Basta kontrakt
Ost v EK42 INT S =2220 Syd vE753 54 V =-450 Vast v KDKn4 34 VD-1100
Alla ¢ E4 Ingen ¢+ EKDKn97 NS + EK1062
#EKD32 & ¢ v & NT &K & ¢ v & NT 97 & ¢ v & NT
aKn62 #4104 N 119 101313 | «ED108643 4KKn2 N87 725 4 E9754 4 K106 N9 7657
v 63 vDKn1097 S 119 101313 v K2 v DKn98 S877265 v 872 v E953 S97657
+ D873 ¢ K962 004300 +5 ¢ 10642 O5 55 116 + D854 ¢ Kn9 O466 875
#Kn764 #85 V14300 #EKn6 #105 V555 116 &Kn #E643 V 466 85
« EK9853 a7 & DKn2
v 85 v 1064 v 106
+ Kn105 +83 +73
#109 #D987432 #KD10852
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 19 74 S= +8 2210 140 20| 1 16 34 V+2 <A 200 16.0 0.0| 4 10 34 S= v8 110 150 1.0
6 18 74 N= vQ 2210 140 20|15 14 5¢DN-2 &K -300 140 20| 5 12 3«S= v7 110 150 1.0
8 14 74 S= ¢+3 2210 140 20| 2 18 44 V+1 ¢A -450 70 9.0(13 8 34V-2 ¢ A 100 11.0 5.0
4 11 64 S+1 v6 1460 9.0 7.0| 4 10 44 V+1 <A -450 70 9.0|15 14 34DV-1 48 100 11.0 5.0
12 10 64 S+1 v6 1460 90 7.0| 5 12 44 V+1 A -450 70 90| 1 16 INS= a4 90 70 9.0
20 7 64 S= *7 1430 6.0 10.0(11 9 44 V+1 ¢K -450 70 90(11 9 INS= a4 90 7.0 9.0
5 13 44 S+3 7 710 3.0 13.0{13 8 4e4 V+1l ¢A -450 70 90| 2 18 34 V-1 29 50 40 120
16 15 44 S+3 46 710 3.0 13.0|17 6 44 V+1l +A -450 70 90| 7 19 3#S-1 v2 -100 20 140
1 17 64 S-1 a2 -100 0.0 16.0| 7 19 54DV=¢A -650 0.0 16.0|17 6 3¢ N-2 46 -200 0.0 16.0
-9 95| - 20 83| - 20 8.3
13 4 E10642 Basta kontrakt 14 4832 Basta kontrakt 15 & Kn87 Basta kontrakt
Nord v 106 5¢ N =600 Ost v KD542 3+ OD-1100 Syd v K742 24 VD -1100
Alla ¢ ED74 Ingen +53 NS + Kn7
#Kn9 & ¢ v & NT #986 & ¢ v & NT & EK42 & ¢ v & NT
4K83  4Kn975 N 7 118 8 9 464 & Kn97 N57 787 454 4 KD1062 N7586 7
vEKD3 v854 S 7 118 8 9 vKn8763 vEI10 S57787 vD5 v 863 S75867
+82 ¢ Kn5 O6 154 4 +8 ¢+ KDKn94 O8 6 6 46 ¢ E9843 ¢ KD10 O6 8576
#8742 #10653 V6154414 #107543 #ED2 V 8 6 6 46 &#Kn987 &D3 V68576
4D « EKD105 4 E93
v Kn972 v9 v EKn109
+ K10963 + E10762 4652
#EKD #KKn #1065
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 17 3NS+2 vA 660 160 00| 4 9 4vV-5 a2 250 16,0 00| 9 19 3v N= &K 140 16.0 0.0
4 9 3NS+1 ©vA 630 110 50| 6 16 24 O-4 v9 200 130 30|11 8 2v N= 4Q 110 13.0 3.0
5 11 3NS+1 ©vA 630 110 50|10 20 24 S+3 +8 200 13.0 30|13 12 2v N= &K 110 13.0 3.0
8 12 3NS+1 vA 630 110 50| 2 17 24 S+2 +8 170 90 70| 6 15 2#V-2 *J 100 10.0 6.0
10 20 3NS+1 vQ 630 110 50| 5 11 24 S+2 +8 170 90 70| 1 14 INS-1 a5 -100 6.0 10.0
6 16 5¢ S= vA 600 40 120| 8 12 24 S+1 v3 140 50 11.0| 4 20 2v N-1 &K -100 6.0 10.0
15 1 3NS= vA 600 40 120|15 1 24S+1 48 140 50 11.0( 5 10 2v N-1 *+ K -100 6.0 10.0
18 7 5¢ S= vA 600 40 120|14 13 24 S-1 +8 -50 1.0 15.0| 7 17 INS-2 a5 -200 1.0 15.0
14 13 24 S+3 YA 150 00 16.0(18 7 24 S-1 +8 -50 10 15016 2 3v N-2 &K -200 1.0 15.0
- 19 84| - 19 84| - 18 7.5
16 4 Kn10953 Bésta kontrakt 17 & Kn983 Bésta kontrakt 18 49876 Bésta kontrakt
Vast v KKn2 64 N =980 Nord v8 7¢ O =-1440 Ost v E82 34 S =140
ov + E93 Ingen + DKn NS + Kn8
&E4 & ¢ v & NT #EKDKnN75 & ¢ v & NT #EKn102 & ¢ v & NT
& K62 «D N 8 117 1211 4 K106 4 E54 N70151 4 D10 &« K43 N86 697
v84 vD1097653 S 8 117 1211 vE10973 vKD6 S70151 vKn1064 vKD9 S866 97
+Knl042 +5 042612 ¢ E10843 ¢ K752 O 5 13128 7 ¢ D1073 ¢ K942 0576 45
#Kn763 #D1092 V42612 »- #1062 vV 5 13128 7 *K93 »654 V57645
« E874 4 D72 & EKn52
vE v Kn542 v 753
+ KD876 496 + E65
#K85 #9843 D87
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 10 64 N= +5 980 120 40| 7 16 4v V-1 A 50 150 10| 2 15 24 N= vK 110 16.0 0.0
6 15 64 N= +5 980 120 40|20 18 4v V-1 A 50 150 10| 4 19 INO-2 a5 100 140 20
9 19 64 N= v9 980 120 40| 2 15 4¢ V+3 &A -190 120 40| 5 9 Pass 7.0 9.0
11 8 64 N= v9 980 120 40|10 8 3y V+2 &A -200 90 7.0| 6 14 Pass 7.0 9.0
13 12 64 N= v3 980 120 40|13 1 54N-4 vK -200 9.0 7.0| 7 16 Pass 7.0 9.0
1 14 54 N+1 ¢5 480 3.0 13.0| 6 14 44DS-2 +A -300 6.0 10.0(10 8 Pass 7.0 9.0
4 20 44 N+2 5 480 3.0 13.0| 4 19 4v V+1l &A -450 40 120|13 1 Pass 7.0 9.0
7 17 44 N+2 ¢5 480 3.0 13.0(12 11 4v V+2 &A -480 2.0 14.0|20 18 Pass 7.0 9.0
16 2 44 N+2 &9 480 30 13.0| 5 9 4vyV+3 &A -510 0.0 16.0|12 11 2¢ O+1 &A -110 0.0 16.0
- 18 7517 - 5.8 17 - 5.8
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19 4 D94 Basta kontrakt 20 4 E108 Basta kontrakt 21 462 Basta kontrakt
Syd v 98654 34 S =140 Vast vD84 5¢ S =600 Nord v Kn952 7NT O =-1520
oV 2 Alla ¢ EK NS + KD984
#EDKnN5 & ¢ v o N #KDKn54 & ¢ v & NT #53 L IR A )
2 K1075 483 N 105 9 9 8 & K542 »« Kn63 N 9 107 8 9 4 KKnl0 4E84 NOG6 03
v1073 v KDKn S 105 9 9 8 v KKn10765 ¢93 S 9 117 8 9 vEK63 vD107 S060 3
¢ Kn8 ¢+KD10764 O 3 7 3 3 5 94 ¢ Kn107 0426 42 ¢ Kn6 ¢E3 O 137 131013
K632 #109 V37335 *2 *E10986 V426142 #KD92 #E10876 V 137 131013
& EKn62 « D97 « D9753
vE2 vE2 v84
¢ E953 + D86532 410752
»874 *73 +Kn4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Res Poang
12 1 3vy N+1 &T 170 16.0 00|19 17 3NS+3 vJ 690 160 00(13 2 4NO+1 5 -460 150 1.0
6 13 2vy N+1 ¢K 140 140 20| 5 20 3NS+2 vJ 660 11.0 50(19 5 3NV+2 K -460 150 1.0
7 15 INN+1 ¢K 120 11.0 50| 8 9 3NN+2 49 660 11.0 50| 4 17 B3NO+3 3 -490 12.0 4.0
14 2 INN+1 K 120 11.0 50|11 10 3NN+2 ¢J 660 11.0 50| 1 11 3NO+4 &5 -520 6.0 10.0
5 20 2v N= vK 110 70 9.0|12 1 3NS+2 42 660 11.0 50| 6 12 BNO+4 a5 -520 6.0 10.0
11 10 2v N= &T 110 70 9.0|14 2 3NN+1 v9 630 6.0 10.0| 7 14 3NO+4 43 -520 6.0 10.0
8 9 3¢0-1 YA 100 3.0 13.0(18 4 3¢ S+1 &2 130 40 120(18 16 3NO+4 43 -520 6.0 10.0
19 17 2¢ O-1 vA 100 3.0 130 6 13 3NN-2 v9 -200 1.0 15.0{20 8 3NO+4 &5 -520 6.0 10.0
18 4 3NS-1 *J -50 00 16.0( 7 15 3NN-2 v9 -200 10 15.0|10 9 6NO+1 &5 -1020 0.0 16.0
- 16 69| - 16 6.9(15 - 8.0
22 & KKn7 Bésta kontrakt 23 4 E104 Bésta kontrakt 24 « KD1032 Bésta kontrakt
Ost v KDKn9 2NT S =120 Syd v Kn7 54 V =-650 Vast v 1082 4v V =-420
oV +63 Alla + EKn9865 Ingen ¢ 102
*D872 LI AT #108 & ¢ v & NT #E85 LI A S
# 954 #1032 N6 6 77 D65 & KKn73 N17 123 sE # 854 N3 437
v1087652 vE S6567 vKD96 vE10853 S17123 vD74 v EK53 S3437
+ K95 ¢+ D874 06 7 6 5 +D +3 O 116 11116 + K864 ¢ Kn93 O 109 106
3 #EKKn64 V67675 #ED432 #K76 V 116 11116 #Kn10632 #KD7 V 109 106
« ED86 # 982 « Kn976
v43 v42 v Kn96
¢ EKn102 + K10742 ¢+ ED75
#1095 #Kn95 *94
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Res Poéng
19 5 3#4DO-4 v4 1100 16.0 00| 6 11 6v V-1 ¢ A 100 140 20| 9 20 4v O-3 a7 150 16.0 0.0
4 17 2v V-2 vK 200 120 40(10 1 6vO-1 4 100 140 20| 5 18 3NO-1 46 50 13.0 3.0
7 14 2v V-2 +6 200 120 4.0(17 15 6y O-1 2 100 140 20| 8 19 3¢ V-1 «Q 50 13.0 3.0
20 8 240-2 v4 200 120 40| 5 18 4vy O+1 +4 -650 6.0 10.0|16 4 24 N-1 vA -50 100 6.0
6 12 240-1 ¢ 100 70 90| 7 13 4vy V+1l +A -650 6.0 100| 2 12 2vO= a7 -110 80 8.0
18 16 2v V-1 v9 100 70 9.0 8 19 4v V+1l +A -650 6.0 10.0| 7 13 4« V= oK -130 50 11.0
1 11 24 S-1 3 -50 3.0 130 9 20 4vy O+1 2 -650 6.0 100(10 1 3¢ V+1 &K -130 5.0 11.0
13 2 3NS- v6 -50 3.0 13.0(16 4 4y V+1l +A -650 6.0 10.0|17 15 3v O= 46 -140 2.0 14.0
10 9 2v0O= &T -110 0.0 16.0| 2 12 4y V+2 &T -680 0.0 160| 6 11 34aDN-2 v¥K -300 0.0 16.0
15 - 8.0 14 - 7.5 14 - 7.5
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